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A simple pendulum of mass “nr’, length ‘I and charge “+4’ suspended in the electric field
produced by two conducting parallel plates as shown. The value of deflection of pendulum

in equilibrium position will be :
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Options :
| {i Ci(Vi + V,) }
1 mg  (Cy + Cy)(d—t)




Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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tan_{ix Cy(Vy + V) }
1 mg  (Cq + C)(d - t)

tan_{ix C (Vi + Vo) }
5 mg (Cl + Cz)(d — f)



| { 7y Cy(Vp — Vq) }
mg (C; + Cy)(d—t)

e { g Cp (Vo = V) }
mg (Cq + GCo)(d—t)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Find the truth table for the function Y of A and B represented in the following figure.

D

B O Do

Options :
A B i i
0 0 0
0 1 1
1 0 0
1 1 0
1.
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle of mass M originally at rest is subjected to a force whose direction s constant but
magnifude varies with time according to the relation

2
F=F01—[£]
T

Where Fy and T are constants. The force acts only for the time interval 2T. The velocity v of
the particle after time 2T is:

Options :
. FoT/3M

| 4F T/3M
, FoT/2M
, 2FT/M

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
. FoT/3M

| 4F T/3M
, FoT/2M

, 2FT/M

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IL

List I List II
)  Capacitance, C () MILIT-3A-1
) Permittivity of free space, €, i M- IL3T4A2
(c) Permeability of free space, n, (i) M~1L72T*A?2
(d) Electric field, E (iv) MIL1T-2A-2
Choose the correct answer from the options given below :

~n o

o

Options :

, (@) = (i), (b) = (iv), (c) = (i), (d) — @)

, (@ = (), (b) = (i), (c) — (i), (d) — (i)



5. (@) = (i), (b) = (i), (¢) = (v), (d) = (i)

, (@) = (), (b) = (ifi), (c) — (1), (d) — (1)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

, (@ = (i), (b) = (iv), (¢) = (i), (d) — @)

, (@ = (i), (b) = (i), (c) — (iii), (d) — (i)

5, (@) = (iid), (b) = (i), (¢) = (v), (d) = (i)

;. (@) = (i), (b) = (iii), (c) = (i), (d) = ()

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) MILIT-3A-1

i) M~1L-2T4A2
iv) MILIT-2A-2



One mole of an ideal gas is taken through an adiabatic process where the temperature rises

from 27°C to 37°C. If the ideal gas is composed of polyatomic molecule that has 4 vibrational
modes, which of the following is true ?

[R=8314]mol 1K™!]
Options :

: work done by the gas is close to 582 ]

5 work done on the gas is close to 582 ]

3 work done by the gas is close to 332 ]

A work done on the gas is close to 332 ]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[R=8314]mol 1K)
Options:

1 PAVNOT VNPTV FOF 582] 1 TST=NT.
, PAVROT S TREOY FTOX 582] 1 TSTHNT.
; BROROT F[PWOL FOF 332] 1 BETWNT.

. BIOT S TR FOI 332] R TSTHNT.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below is the plot of a potential energy function U(x) for asystem, in which a particle is

in one dimensional motion, while a conservative force F(x) acts on it. Suppose that
Emech = §, the incorrect statement for this system 1s :

UU) A

=

[ where KE. = kinetic energy |
Options :
, atr=xy K.E. is greatest and the particle is moving at the fastest speed.

, AxX<x, K.E. is smallest and the particle is moving at the slowest speed.

N at x > x,, K.E. is constant throughout the region.

. at x'= x KE. =4 ].

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Consider the following statements ;

A.

B.

G
D.

E.

Atoms of each element emit characteristics spectrum.

According to Boht's Postulate, an electron in a hydrogen atom, revolves in a certain
stationary orbit.

The density of nuclear matter depends on the size of the nucleus.
A free neutron is stable but a free proton decay is possible.
Radioactivity is an indication of the instability of nuclei

Choose the correct answer from the options given below :

Options:
: A, B and E only

A, C and E only
2.

B and D cmly
3.

, A B,C,Dand E

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A raindrop with radius R=02 mm falls from a cloud at a height /1=2000 m above the
ground. Assume that the drop is spherical throughout its fall and the force of buoyance may
be neglected, then the terminal speed attained by the raindrop is -

[ Density of water f,,=1000 kg m?

and Density of air f=12kgm™>,

¢=10 m/ g2

Coefficient of viscosity of air =18x 107> Nsm~?]

Options:
1 250.6 ms—1
, 494 ms—!

5 144 ms—1

4 43.56 ms—1!

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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g=10 m/s*
Mmoo %é R@nng=18x1073 Nsm 2]
Options :
1 250.6 ms—1

, 4.94 ms—1
, 144 ms—!

4 43.56 ms—1!

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3
A physical quantity 'y is represented by the formula y = ey g'12

If the percentage errors found in 1, 7, | and g are 18,1, 0.5, 4 and p respectively, then find
the value of x and p.

Options :
1 4and £ 3

>, dDand * 2



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two Carnot engines A and B operate in series such that engine A absorbs heat at T, and
rejects heat to a sink at temperature T. Engine B absorbs half of the heat rejected by Engine A
and rejects heat to the sink at T, When workdone in both the cases is equal, the value of T

5.

Options:

2 1
s P
31" g3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A% B aow at@ B ol KO ROLFASrLREE.  ¥Elon
0T A Qo T, 3Q B bechdd e T waiRrng i, aovt dedmied
QT B woiT A BeUmED RAT CTFIR, gl DR Ty 39 A0FR @D
M-dm&:id. 0% TEoenYy dnde forg mmﬁd}:id. T § dddodn

Options :

2 1
oy N O
31" g3



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The planet Mars has two moons, if one of them has a period 7 hours, 30 minutes and an
orbital radius of 9.0x 10° km, Find the mass of Mars,

2
Given 4% =6x 10" N m kg2
Options:
19
_ 5.96x10'% kg
3.25% 1021 kg
2.

6.00 10?3 kg
3.

7.02x 105 kg
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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4% =6x 10" N m ™ kg® 0w da@ends

Options:
5.96 x 10!° kg
1.

3.25%x 10%! kg
2.

6.00x 1023 kg
3.

7.02% 10?5 kg
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An object of mass 0.5 kg is executing simple harmonic motion. Its amplitude is 5 cm and time
period (T) is 0.2 s. What will be the potential energy of the object at an instant = %

starting from mean position. Assume that the initial phase of the oscillation s zero.

Options :

, 62x1073]

3
, 12103 ]

, 0.62]

3
, 62x103 ]
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Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An automobile of mass “m’" accelerates starting from origin and initially at rest, while the
engine supplies constant power P, The position is given as a function of time by :

Options :



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Figure A and B show two long straight wires of circular cross-section (a and b with a <b),
carrying current [ which is uniformly distributed across the cross-section. The magnitude of
magnetic field B varies with radius r and can be represented as :

f

€l
\

(19

Fig. A Fig. B
Options:

Bh

BA
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical particles of mass 1 kg each go round a circle of radius R, under the action of
their mutual gravitational attraction. The angular speed of each particle is :
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron and proton are separated by a large distance. The electron starts approaching
the proton with energy 3 eV. The proton captures the electron and forms a hydrogen atom in
second excited state. The resulting photon is incident on a photosensitive meal of threshold
wavelength 4000 A. What is the maximum kinetic energy of the emitted photoelectron?

Options :
. 33 eV

5 No photoelectron would be emitted

5 7.61 eV

, 141 eV

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
, 33 eV
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The expected graphical representation of the variation of angle of deviation ‘" with angle of
incidence ‘i' in a prism s :
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Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A 100 () resistance, a 0.1 wF capacitor and an inductor are connected in Series across a
250 V supply at variable frequency. Calculate the value of inductance of inductor at which
resonance will occur. Given that the resonant frequency is 60 Hz.

Options :
, 7.03x10-° H
, 703 H

., 0.70 H

4 70.3 mH



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
, 7.03x105 H

, 703 H
, 0.70 H

. 70.3 mH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resistance of a conductor at 15°Cis 16 0 and at 100°C is 20 (. What will be the
temperature coefficient of resistance of the conductor ?

Options :
. 0.003°C—1!
, 0.010°C !

, 0.033°C—1

, 0.042°C—1



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
. 0.003°C 1

, 0.010°C !
5 0.033°C!
4 0.042°C~1
Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the magnitude of electric field at point O as shown in figure ? Each side of the
figure is [ and perpendicular to each other ?

A=) C | D+
e (+9)
[ l
U,
l |
] l
2_1 10 -9
E F H
Options :
1 g
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum amplitude for an amplitude modulated wave is found to be 12 V while the
minimum amplitude is found to be 3 V. The modulation index is 0.6x where x is
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For the circuit shown, the value of current at time t=3.2 s will be A,

T A
W fm=remsm e
| R=10
V(t) : AW ——
| vy
| l | : (t) ’D _--_S'V
0 1 2 3 4
t(s) —>
Figure 1 Figure2

[Voltage distribution V(t) is shown by Fig, (1) and the circuit is shown in Fig. (2) ]
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In the given figure the magnetic flux through the loop increases according to the relation
dy(t)= 10/ +20t, where &g is in milliwebers and £is in seconds.

The magnitude of current through R=2 () resistor at t=5 s is mA.

X X X X X
R=2()

X X X X X
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Response Type : Numeric
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The K X-ray of molybdenum has wavelength 0.071 nm. If the energy of a molybdenum
atom with a K electron knocked out is 27.5 keV, the energy of this atom when an L electron
is knocked out will be keV. (Round off to the nearest integer)

[h=414x107 Vs, c=3x 108 ms ™! |
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The water is filled upto height of 12 m ina tank having vertical sidewalls. A hole is made in
one of the walls ata depth ‘1" below the water level. The value of I for which the emerging
stream of water strikes the ground at the maximum range is m,
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In the given figure, two wheels P and Q are connected by a belt B. The radius of P is three
times as that of Q. In case of same rotational kinetic energy, the ratio of rotational inertias

Iy

I_l} will be x: 1. The value of x will be .
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A small block slides down from the top of hemisphere of radius R=3 m as shown in the
figure. The height '’ at which the block will lose contact with the surface of the sphere is
m,

(Assume there is no friction between the block and the hemisphere)
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Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A swimmer wants to cross a river from point A to point B. Line AB makes an angle of 3(°
with the flow of river. Magnitude of velocity of the swimmer is same as that of the river. The
angle 6 with the line AB should be °, 50 that the swimmer reaches point B.

0
3

A

Response Type : Numeric

LILLT

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

IR0 ERCOATHEIOR Gy MR TNCDT, A LOMINOT B LORIT MULIRMES,
J00d ockosh AB desdody 3° a@awmqommmgd. Bemoy Jene DoTwe)
A0 et 0wReY, ADHTES DE) ST, Lo B oy Iwxey AB et
LOORNTOE B8 0 !

0
3

A

Response Type : Numeric

LILLE




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes simple harmonic motion represented by displacement function as
1(t)=A sin (0t +¢)

If the position and velocity of the particle at t=0s are 2 cm and 20 cm s~ respectively, then

its amplitude is ¥v2 cm where the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1()=A sinfot+4) Rod o ey HU¥rory Wedoha Y R Fodr,
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Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The difference in the number of waves when yellow light propagates through air and vacuum
columns of the same thickness is one. The thickness of the air column is mm.

[ Refractive index of air=1.0003, wavelength of yellow light in vacuum= 6000 Al
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct statements.

A) Crystalline solids have long range order.
B

i

Crystalline solids are isotropic.

(
(
(C) Amorphous solids are sometimes called pseudo solids.
(D) Amorphous solids soften over a range of temperatures.
(E)  Amorphous solids have a definite heat of fusion.

Choose the most appropriate answer from the options given below :
Options :

, (&), (©), (D) only



(A), (B), (E) only
(©), (D) only

(B), (D) only

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RO0IRT ée@%o&i}m& @A :

(A) Feiseod FIND QePF WY TW(J7F )Y, BROOS.
(B) Fesseod FRNH Ay dInTaNss,

(C) ©LBeod FINY, FOFPOTWRD WFRTFINTTIEL.
(D) exLiBeod FINH T W, QHONY W TTMVHH).

(B) wxesseod FInd QD0E TR0 WHID, BROVES,
FUNIINTY e RRBTT YT, YORO.

Options :

(A), (©), (D) &2

1. e

, (A), (B), (E) =22



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If the Thompson model of the atom was correct, then the result of Rutherford's gold foil

experiment would have been :
Options :

, Al of the a-particles pass through the gold foil without decrease in speed.
,0Particles pass through the gold foil deflected by small angles and with rectuced speed.
2 a-Particles are deflected over a wide range of angles.

, All a-particles get bounced back by 180°.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WOT S¢9 TR ORI JRE0 HOCRNGY, $1 WHTEAEFS Horde® Hoeena
20R0TY BRI

Options :

o a-8Eorieh RrorSeedT Eov iRt Sen, SYREAYTE TORTRMI,

R OTIEN :i:ax-'dwm?ﬁ A0 TR Seno 99sodeodit o deedeodmn
| oagiagm

; a—BEATIED DTDL BRCACON DHODY &ﬁtﬁﬁm@g}w@.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A 50,(g) is adsorbed to a larger extent than H,(g) on activated charcoal.

Reason R:  50,(¢) has a hugher critical temperature than Hy(g).

In the light of the above statements, choose the most appropriate answer from the options

given below,
Options :

: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B 0 @evEnda, ABONT ¢ w0 JIWAN ASNT E) e0m RO R SN

Jmak A mhod 9QY Hed SQAEEIANE SOyg) # THmg, Hyg) o
SOERNGTD,

ROV R: 50,8 H,Nog ¥03 ﬁo@rj? W @00t

0% Bevdy Sed i T0A, ST YoRIvY ROOIRT eI, BOA,

Options :

1 A m_op R Q0@R R003RAE m_ap R AR RO0RT QRTHBOIRNT.
, A mégp R OC0R® 30 9% <00 R § AR 3003RT &)ddﬁoﬁmﬁg.
; A 30 98 T8 R %0 wo.

. A B0 ©g =13 R 30 A3,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The CORRECT order of first ionisation enthalpy is :

Options :
Mg < Al<P<S
1.

Mg < Al<S<P
2.

Mg <S < Al<P
3.

Al<Mg<S<P
4.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TER ©o3PATTEd H0GRAH BOOIRE B

Options:

Mg<Al<P<S
1.

Mg < Al<S<P
2.

Mg <S < Al<P
3.

Al<Mg<S<P
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The addition of silica during the extraction of copper from its sulphide ore
Options :

, converts copper sulphide into copper silicate
5 reduces copper sulphide into metallic copper

3. converts iron oxide into iron silicate

A reduces the melting point of the reaction mixture



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il A6 s00R0d syt WGUS SRR A0, H0RYHE R

Options :

ST AT B, TG A0TEET SN TOBEF AT
1.

FRT A TR, Seckrod RN OTFAE WZI.
2.

, BT G W, TYLets RO SN VODJSF WIYT.

, BOIRDT0T BOTT WODHIR, AT,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of neutrons and electrons, respectively, present in the radioactive isotope of
hydrogen is:

Options :
, 2and 1
, 3and 1

5 2 and 2

, land 1

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
DEMUTT atondto TmAch) a0 Thmi SakREd B8 JSRTY

noaﬁéojm :

Options :

1 230 1

, 3aw 1

; 230 2

103 1
4. -

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List-1 List - I
(@) Li ()  photoelectric cell
(b) Na (i) absorbent of CO,
(¢ K (iii) coolant in fast breeder nuclear reactor
(d) GCs (iv) treatment of cancer
(v)  bearings for motor engines

Choose the correct answer from the options given below :

Options :

, (@) - (iv), (b) - (ii), (c) - (i), (d) - (ii)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ty -10 28 2y - 11, BROON :

ﬁéé- I E.dég - 11
(a) Li () D3OI dee3
(b) Na (i) CO,28 &eTs
(© K (i) dex [T H0dPMTTY 3370
(d) Cs (iv) ©wrsd (RIT) w¥dImN
(V) BRetR0T Q0RINTY LSedonTnisd

§YNT ©oRNYY OCIRT YOSTIW, SOR.

Options:

, (@) - (), (b) - (iii), (c) - (i), (d) - (ii)



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Number of CI=0 bonds in chlorous acid, chloric acid and perchloric acid respectively are:

Options :

1 1,1 and 3

5 3,1and 1

3. 1, 2 and 3

4 4,1 and 0O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BN Se0n B, BA0TF GRl) D TRHOT LYY dorumi Cl=0wogny

noﬁéoim :
Options :
, 11 maa_ﬂ 3
, 31 maa_ﬂ 1

; 1,230 3

. 4,102 0



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

To an aqueous solution containing ions such as ARt Zn?t Calt, Fe¥t, Nitt, Balt and

Cu®t was added conc. HCJ, followed by HS.

The total number of cations precipitated during this reaction is/are :

Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AP*,Zn?t, Cal*, B, NP ¥, B i@ Cu* w0ty 3000 sdeod tmitiod

o HCIRORRND), 030 H,S S0nAed

% $000DY) TERRN: REFYOIINY Wid) Roddod

=)
Options :
1. 3



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I:  [Mn(CN),J*", [Fe(CN),~ and [Co(C,0,)s]*~ are dPsp? hybridised.
Statement 1 : [MnC16]3‘ and [FeF6]3‘ are paramagnetic and have 4 and 5 unpaired

electrons, respectively,

In the light of the above statements, choose the correct answer from the options given

below :

Options :

1. Both statement I and statement II are true
, Both statement I and statement II are false

3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement 1I is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



891 Q0@ LSO, Aeroand

@98 1 [Mn(CN)J*~, [Fe(CN),*~ @) [ColCO )P~ sh dsp’ Hogdcdean
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Options :

1 2ewd 1 aﬂam_p 2ePE 11 QTER ezons.

, e 1 D\ Rewd I QTER :a'mwﬁaﬁ.

] v 1 X0 9T «us Rewd 11 3@?363.

. 2e0d 1 @'mwﬁcﬁ SE0 Rewd II O 3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - [ with List - IT :

List - I List - II
(compound) (effect/affected species)
(a) Carbon monoxide () Carcinogenic
(b) Sulphur dioxide (i) Metabolized by pyrus plants
(c) Polychlorinated biphenyls (i) Haemoglobin
(d)  Oxides of nitrogen (iv) Stiffness of flower buds

Choose the correct answer from the options given below :



Options :

, (@) - (iii), (b) - (iv), (c) - (i), (d) - (i)
, (@) - (iii), (b) - (iv), (c) - (ii), (d) - (1)
5. (@) - (), (b) - (1), (c) - (iid), (d) - (ii)

5 (@) - (@), (b) - (i), (c) - (i), (d) - (iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ﬁbé-ld A0 weg.nm% TR0

aﬂ&é-l ﬁ&é I
(Rooksg) (60tsen3/TmF Jeriet)
() murT demEE () A A
b A7 dsig i) 0% Aetoors totmied (et FBdes) sbageh
() mORgeOSHE dade (i) GRATgRT
(@) Aean of 7 fv) @07 dond ey
B9 welned 0o GUITI, SOA.

Options:
, (@) - (iid), (b) - (iv), (0) - (i), (d) - (ii)
, (@) - (i), (b) - (iv), (c) - (i1), (d) - (i)

5. (@) - (), (b) - (), (c) - (iid), (d) - (i)



5 (@) - (@), (b) - (i), (c) - (i), (d) - (iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following set of elements can be detected using sodium fusion extract ?
Options :

: Nitrogen, Phosphorous, Carbon, Sulfur

5 Sulfur, Nitrogen, Phosphorous, Halogens
N Phosphorous, Oxygen, Nitrogen, Halogens

A Halogens, Nitrogen, Oxygen, Sulfur

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BT ORT MOTYD RAMYR, Iadonas dagun mo (su0IIM) 0o T
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Options :
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TR ERET MR, JRReHT, BT, IOT
4. z ¥

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I 1 Hyperconjugation is a permanent effect.
Statement IT:  Hyperconjugation in ethyl cation ‘CHS'EHZ) involves the overlapping

of Cspi’- ~His bond with empty 2p orbital of other carbon.

Choose the correct option :

Options :

1. Both statement I and statement II are true
, Both statement I and statement II are false

3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement 1I is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH

0)
(u OCH Conc. HBr .
HSC/J\( ] (Major Product)

Consider the above reaction, the major product “P” formed is :

Options :

1.



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH O

| TW© HBr o
C—OCH; > P

(TR0 0IF)

e

H,C

$eO3 Bododa, Toredr, IodnoerdE B0 WP, PR :

Options :
1.



C-0OCH
CHy ’
Br
Br (lzl)
2.
OBr 'lcl)
C—-0OCH;
3.
Br (|:|}
C—-Br

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH
X\
@)\/ Conc. H2504 @/\/ ; m
e
A
A B

Consider the above reaction, and choose the correct statement :




Options :

, Compound A will be the major product
5 Compound B will be the major product
, Both compounds A and B are formed equally
A The reaction is not possible in acidic medium

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH

TWe HyS0, i
>
A

A B

oedd Sohod, TOredk, ROOIRT TevgORT, SOA.

Options :

1 AOOIOT A OO0 Tddl LSS 0IToMOTYTD

, AOCWOT B OIN Taiddd) g3 SCIRILIYTR

; AOCWOT A W B HTTER AdDoN SCIRToMDTY
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i) DIBAL-H _
R-CN i H,0 R —Y

Consider the above reaction and identify “Y”.

Options :

, —COOH

, —CH,NH,

;, —CHO
—CONH,

4,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i) DIBAL-H _

i) H,0  R—-Y

R -CN

23000 FOHODI), NP, “Y” 0D, TOWIERROEWD.

Options:

, —COOH

, —CH,NH,



, —CHO

—~CONH,
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct sequence of correct reagents for the following transformation is :

NO, OH
—_—>
Cl

Options :
(0 Cly FeCly (i) Fe, HCI (iii) NaNO,, HCI, 0°C (iv) H,O/H*

(@ Fe HCL (i) NaNO,, HCL, 0°C (i) H,0/H (iv) Cl, FeCl,
, (OFeHCL (i) Cly HC (iti) NaNO,, HC, (°C (iv) H,O/H*
, ()Cly FeCly (i) NaNO, HCI, 0°C (i) Fe, HCI (iv) HyO/H*

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



BYNT mcﬁmﬁﬁo&aﬁsﬂl ST ARTWD WYTTINY AOCIRD o :

NO, OH
EE—
c

Options :
. ()Cly FeCly (i) Fe, HC (iti) NaNO,, HC, 0°C (iv) H,O/H*

(FeHCl (i) NaNO, HCI, 0°C (i) H,O/H (iv) CL,, FeCl,
, ()FeHC (i) Cl, HCI (iti) NaNO,, HC, 0°C (iv) H,O/H*
, ()Cly FeCly (i) NaNO,, HCI, 0°C (i) Fe, HCI (iv) HyO/H*

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is A in the following reaction ?

0)
K SO
N K
(1) K
CH,Br
* 0
> A
(ii) 901—1/1—120 (Major Product)

Options :

1.



(NH

O

CH,NH,
2.

O

Swn-cn— )
3.

CH,OH
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



CHzBI'
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0K
NH

K

1, O

: CH,NH,
2.

O

~wian—d )
: ,CH,OH
4.

Options :



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  Penicillin is a bacteriostatic type antibiotic.

Statement Il : The general structure of Penicillin is :

O
R)'K N
H 2 \<CH3
CH,
N
O/;/ o COOH

Choose the correct option :

Options:

1. Both statement I and statement II are true
, Both statement I and statement II are false

3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement II is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1 2evg 1 B BPF 11 QTER ezon.
, 2ewd 1 mé’_c'p 20 11 QTER 3@?15.
; 2ewd 1 10 0 =50 Jewd 11 @’mwﬁc"}‘.

. 2evg 1 3@?@ SE0 29 II 50 3.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A gives D-Galactose and D-Glucose on hydrolysis. The compound A is :
Options:

1. Maltose



» Lactose
3 Sucrose

A Amylc}ﬁe

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hoong Aol BORRDY D-mﬁem&'aw ) D7RBRCT B, Hookes Ao :
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Options:

4, L

Chemistry Section B
SectionId: 864351851
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks : 20

Enable Mark as Answered Mark for Review and
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Clear Response:
Sub-Section Number : 1
Sub-Section Id : 8643511078
Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
550y(g) +0y(g) > 05(g)

The above reaction is carried out in a vessel starting with partial pressures P, 2=250 m bar,
P02=750 m bar and P503=0 bar., When the reaction is complete, the total pressure in the

reaction vessel is m bar. (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
150,(g)+0y(g) > 2504g)

Weom B0CDR), %o TWINY TICHERN Peo, =250 m bar, Py =750 m bar %)

3

Poo, =0 1T (bar) €08% LIBMGY GNAANT,  Sodotd HewFiiack F0%C, e

™
WINDT 1) WIR mbar, (FNTT TRFRFOE)
M WP
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of electrons in all bonding molecular orbitals of 0%" is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0y AYAT wodR0 SiF IRICANYY LI AR F0som
TREFO3)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 400 mL of 0.2 M H,50; solution is mixed with 600 mL of 0.1 M NaOH solution, the
increase in temperature of the final solution is x1072K. (Round off to the

Nearest Integer).

[Use : H* (aq) + OH ™ (aq) - H,0: AH =-571 K mol !
Specific heat of H,0 = 418K~ g™

density of H,0 = 1.0 gem™

Assume no change in volume of solution on mixing|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
400 mL ES@U 0.2 M H,50, CBEJJSS”&K\)’FSJ&i 600 mL Eﬂﬁg 0.1 M NaOH @aﬁsadfao@ﬁ Ze0ROING,

30 mARGOT D0tlRd WA X107PK (RNeI3 Iemros)
[ovolachy + HF(ag)+ O (ag) - H,0: A, H = ~57.1 ] mol !

HO&R 285 o= 418]K 15!

HO a8 mogdey=10gem™

(230R0) g0 IRHYRO0T MR iR WERIR HHYOLBOT RAA)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a solvent 50% of an acid HA dimerizes and the rest dissociates. The van't Hoff factor of
theacdis __ x107% (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
mEng gesm 500 v HAG Ci&jm@&mrb@ :

g0 WO T e x107% (Rebead Zemoros)

b
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equilibrium constant for the reaction

A == M + 3 Ol

is Kp=4. At equilibrium, the partial pressure of O, is

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
8 S000% Rabdreed AobE0TE)

A == M)+ O

K =4 6Nt Aabéntornd, O,u8 Sodt Liny
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

am 87, (%2

3
&

s

Al

-I_

atm. (Round off to the

AF03)



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
For the cell Cu(s)|Cu®* (ag) (0.1M)|| Ag™ (aq) (0.01M)| Ag(s)

the cell potential E; =0.3095 V
For the cell Cu(s)|Cu** (aq) (0.01M) [Ag *(aq) (0.001M)|Ag(s)

the cell potential = x107* V. (Round off to the Nearest Integer).
2308 RT
[Use : S 0.059]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



& 8ee38N Cu(s)|Cu**(aq) (0.1M)[|Ag* (aq) (0.01M)| Ag(s)
303 QR E;=0.3095V SAS.
% 8oe3mN Cu(s)Cu* (ag) (0.01M)[|Ag* (aq) (0.001M)| Ag(s)

3003 QPIY = Xx1072V. (B00TT TR 08)
; 2303 RT
[svmoineny : S 0.059]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For the first order reaction A - 2B, 1 mole of reactant A gives 0.2 moles of B after
100 minutes. The half Life of the reaction is min. (Round off to the Nearest
Integer).

[Use : In 2=0.69, In 10=23
Properties of logarithms : In 2¥=y In x;

ln[E]:lnx—lny]
y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
T JFD sobmn A - 2B, 1t Fomncs A ot 02 Secei) Bobi

0%
100 dar¢ Ihmod R [Igdod wFRrotn min, (ReeDd

o
ZRT0F08)
[v@odeena : In2=069, In 10=23

SN0TETS A0RWNWN ¢ In¥=ylny;

ln[E] =Inx-Iny]
y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 moles of metal complex with formula Co(en),Cl, gives 3moles of silver chloride on treatment
with excess of silver nitrate. The secondary valency of Co in the complex is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3akeeeida) Colen),ClyAeEY Snelatod Hodteors) ©0F HRRET AUT HHMR0NN
AOm 3 ARtTIYRY AVDT SRIOER) DR,  Rodeeer Cod Dieod aeCRod

. (RTW TRTERFOT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The dihedral angle in staggered form of Newman projection of 1,1,1-Trichloro ethane is

degree. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1114 Sacdat SHers Sy dieng I0ude (L) SARngY OBvaets
B, (RDTT TR OT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10.0 mL of 0.05 M KMnO, solution was consumed in a titration with 10.0 mL of given oxalic
acid dihydrate solution, The strength of given oxalic acid solutionis X 102 g/ B
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0



100 mL 3eK008 $RIT $RT wEEer manE, 005 MKMiO, mEetacln
a0 SRAmA 100 mL KMnO, maes) WIcleAoRs. &akhs ends &)

b

(=)

DWWy 1072 g/L. (Re0eTn emmoros)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A
Section Id : 864351852
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511079
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let f: R = R be defined as

flx+y) +flx—y)=2f(x) f(v), f{%}= —1. Then, the value of

O S—
k=1 sm(k) sjn(k + f(k)) 15 equal fo:

Options :

. sec*(1) sec(21) cos(20)

5 cosec?(21) cos(20) cos(2)
3 cosec?(1) cosec(21) sin(20)
N sec?(21) sin(20) sin(2)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frR = R, flrty) +fv-y) =2A(0fly) o WRIARNT TRS f G)= -1 id.

2 1

Options :

. sec*(1) sec(21) cos(20)

5 cosecZ(21) cos(20) cos(2)



3 cosec?(1) cosec(21) sin(20)

A sec?(21) sin(20) sin(2)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of the frequency distribution
10o4=l n=6 n=8 =9
fi 4 4 ( B
be 6 and 6.8 respectively. If x,is changed from 8 to 7, then the mean for the new data will
be :
Options :
17
. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Q00 SHEF TN AORHO 33 ARTEND N 6 688N, 1, SRR,
88 wadrt 7ab, wImR, %A% 3 AoRO ddod :

Options:

17
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider a circle C which touches the y-axis at (0, 6) and cuts off an intercept 645 on the
1-axis, Then the radius of the circle Cis equal to :

Options:
1. 8

. /53



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Caow S3 1o8am, (0,6) oM RoOREY BE) +o8d Beshy diid ey

4
=

65 1. s CFFd &

o
Options :
1. 8

, /53

s V82

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two sides of a parallelogram are along the lines 4v+5y=0and 7x+2y=0. If the equation
of one of the diagonals of the parallelogram s 11x +7y=9, then other diagonal passes through
the point :

Options :

L)

, 22

3 (&)



L3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WO AROT0 BANDFHTY AOR RN dv+y=0308) Tr+2y=08N5, 8 BRGFE0
WO BOFTH ANEBT0R 1L+ 7y=990, GHR0M BOFTY T BRETET LOTHEY :
Options :

L2

, @)
, @

L3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f:[0,¢) — [0, 3] be a function defined by

max {sint: 0st=<x},0<sx=7
flx) =

2 + cosx, x>

Then which of the following is true ?
Options:

: f is not continuous exactly at two points in (0, =)



, fis continuous everywhere but not differentiable exactly at two points in (0, *)
2 f1s continuous everywhere but not differentiable exactly at one point in (0, )

, fis differentiable everywhere in (0, =)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f:10,%) = [0, 3] w02 LI

max {sint: 0<st<x},0<sx< =

2 4+ cosx, x>

f(X)={

Q0T WWABAIOLT. TMRBT IENT CIPRYT FSITPNS 9

Options:
fR03TD (0, ) 0D VOFTF TR WOWNYY BU TN,
1. = i it

faowm avy gEehgee YREEmG STY (0, =)0 ADFY 20E LORYY

= #
N &'J%mﬁg.

faowm oy gabdote B FmRNG 83T (0, *)F AOFY Lom KORATY

- o
N Q%Fo’imﬁg.

, fR0T (0, ©) 0D P FPRATYONR AFT NS,

Question Type : MCQ Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
Which of the following is the negation of the statement “for all M > 0, there exists xeS such

thaty = M" ?
Options:
: there exists M > 0, there exists xeS such that x < M

5 there exists M > 0, there exists xeS such that x = M
3 there exists M > 0, such that x < M for all xeS

4 there exists M > 0, such that x = M for all xeS

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
890s olRa Bevdodn P M>D°a@3ri., 165 20WR @{% o) c? =M fjméd” 200

ReE0D TRImNG,
Options :

M}D@m@j@cﬁﬁ, xeSfﬂEq%;:ﬁ@mﬁ x <M Sn33.
1 P ™M Q Pa ™ Q -

M}Dfﬂ%é}:ﬁ@cﬁﬁ, IESEﬂﬁu%ﬁj@mﬁ x = M smidd.
2. O ™0 G ™ D =

M >0 @%%tdeg Dti QY xeSTY ¥ <M SM3T.
3. =

M > 02309338, 200 1SS0 x = M sSma3d.
4 OF W ) ) oK



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the region bounded by y—x=2 and x?=1 is equal to :

Options :

W | = W

M| WO

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
y—x=2 2=y F0WTOOT SRFIT [OoRT FFFOF) :

- e

Options :

W | = WM

M| WO



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation (x-x)dy= (y+>-3n)dy, v > 2
I y(3)=3, then y(4) is equal to

Options :

1. 12

2. 8

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=y(x) 0T (1-2)dy=(y+yr2-3¢)dx, x> 2200 SFFOF RNedTT HOFIAT,
y(3)=3600 y{d) 5 ol :

Options :
1. 12

2. 8



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The point P (a, b) undergoes the following three transformations successively :

(a) reflection about the line y=1.

(b)  translation through 2 units along the positive direction of x-axis.

T
(c) rotation through angle 1 about the origin in the anti-clockwise direction.

17

If the co-ordinates of the final position of the point P are (‘ i J, then the value of

2a+bis equal to:
Options :

1.9

2. 7

4 13

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



P (a,b) D0 ROWF) ¢80T Mwd FRRNIT TOSFT &%ﬂaﬁiﬁ.
() y=xTebodrobit TEHIRT.

(b) 20 FWIF DREQ 2TRIEROON Ré%oécﬁmo@d

i

() STBRRN HROLODHITY E dneER) S0NG

1 7

Pod 30300 RoRAT AderTTY) [-—2, " J $0% 2a+bod LSk :

Options :
1. 5

2. 7

4. 13

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A possible value of ', for which the ninth term in the expansion of

10
1 J 1 E
[310g3\}25"‘1 i 3(' g] logs5* ”)] in the increasing powers of 3(‘ g] logs(5"+1)

is equal to 180, 15 :

Options :
1. 0



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

310g3xl25""1+7 s 3( 8

10
.'_1 L
logy (5" +1)] 200 Tebdntols 20g

=T

i 1 - -
V'8 mﬁﬁw SO0

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g0 Tag) 180 6ad,

<



Let € be the set of all complex numbers. Let
S, =f{zec: z-2/=1}and

S,={zec: z(1+i)+7 (1-i) = 4},

2

Z—_

Then, the maximum value of 5

for ze S, NS, is equal to :

Options :

3+ 242
1. 4

3+ 242
2. 2

54 22
3. 2

5+ 242
4, 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

€ OITH FOBeLdF OBNE MEdTONT.
S, ={zec: [z—2 <1}0=D

S, =f{zec: z(1+i)+7 (1—i) = 4 } 833

2

z—_
2

zeslmszﬁ%ﬁ & ﬁ@ﬁw 23e3 .



Options :

34+ 242
1. 4

3+ 22
2. 2

54+ 242
3. 2

54+ 242
4. +

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Letf: (a, b) = R be twice differentiable function such that f(x) = j g(t)dt for adifferentiable
d

function g(x). If f (x)=0 has exactly five distinct roots in (a, b), then g(r)g'(x)=0 has at

least :

Options :

: three roots in (a, b)
, five roots in (a, b)
, seven roots in (a, b)

, twelve roots in (a, b)



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fofab) - Raount § D, g amich, gf) downch AR, st fiy) = [ g

SN, fooud (o, b)) AOFImA wrd Haonvid, Beo0TT glrls'(x)=0 aow
ok CEL e oW

Options :

1 (a,b) BQ TR DRONTI, BLODT

, (a,b) BQ 2T RONYI, BROVT
, (a,b) BQ D PRONTI, BROOT

, (a,b) BQ BITE DRONTR, BROVT

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A and B be two 3% 3 real matrices such that (A2~ BY) s invertible matrix, If A>=B° and
A3B2= AZB3 then the value of the determinant of the matrix A3+B%is equal to :

Options :
1. 0



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aoz Baownch 3x 3w Rosdotng decdimnct, (A%~ BY)aounth B3acd Spedmnd

A5=BSai>3_op ASB2= AZB3escont, A34B3%ee3n AmoroEd o :

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let N be the set of natural numbers and a relation R on N be defined by

R={(x, ) € NXN: 23-3xZy—x12+31°=0}. Then the relation R is :
Options :

: reflexive and symmetric, but not transitive
, reflexive but neither symmetric nor transitive

, symmetric but neither reflexive nor transitive



an equivalence relation

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
N 2000 RIRIE noaﬁﬁm# fieoriacd, N ahed RE xouogdy
R=((, ) eNXN: *~3ey -2 +3pP=0} oot R, Tomad RE Rouogs -

Options :
1 TSPV m@‘% TRPON FOWOTING STC BT R0WOTENTROY.

VPO ROWOTWNT BWE TRWONR STavo WWTF %02 0QWNTFH QY.

2. ~

Aawon RowoFmens ¢ut J8T0 YT ms% @R A0WOPWNTOY.

. BT, BOWOToNT.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
; {825111335, 44c053x}.

Let o= max (g2 gkos3t} g B= min
R reR

If 82+ b + ¢=0is a quadratic equation whose roots are o5 and B%, then the value of c=b
is equal fo

Options:
1 42



, 43
3. 47

4,90

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

825i113x : 44c053x] 3

o = max {stmax_44cos3x] D% f=min { ¥R,

reR < 1eR

o5 DR B% A0 Bl +br+c=000 IAFANE0NT BORRES, c=bod
AVONE

Options:

1. 42

2. 43

3 47

4. 90

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
The value of lim is equal to :
x—0 [%/1—5&1x—§/1+ sinx} 1

Options :



2 —1
3 —4
4. 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11111 S 3303w
[ﬂl — sinx — ~.J1 + smx}

Options:

1. 0

> —1

3 —4

4 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A student appeared in an examination consisting of 8 true - false type questions. The student

guesses the answers with equal probability. The smallest value of n, so that the probability of

guessing at least ‘n’ correct answers is less than E, S



Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
W) WRGF O 8A0-33) TR0 wa{j %y meiﬁ TERNME. € 8N IR,
Db ROTRAECLIOD ZRDWAT, TMET 83 AR I R HITANAROWE

nf BEROYH03 o @Ci) z’:O& s@mmd ng 53 ¢ ol

Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For real numbers a and p # 0, if the point of intersection of the straight lines

1-a ~¥-1_a=1 .x-4-: ¥=6 -7

1 > 3 and B 3 3

lies on the plane x+2y—z=8, then a«—§ is equal to :

Options :

1.3

N
Ul

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
a D P 20N IR RoLATAD,
£ b il (A}

-0 =1 2= m'x—fl:y—ﬁ:z—?

1 2 3 P B 3 3 Q0L XoETesnsh ﬁjfﬁma ZSO@EE)

1+2y-2=8 208 RRIOD ﬁ:e@qp, a-p 3 B¢ :

Options :

1.3



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If tan[E
9

. [7«
I l: tﬂl‘l I
18

are n arithmetic progression and tan(g],. I tan(?—;} are also in

arithmetic progression, then [x~2y| is equal to:

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan(;] ; mn[is]@om <etm0dg et ) tan( ] y tan(l ]Wa 0%

FRDITT x-2y| 3 KO :
M0 .

Options :

1. 0



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

53 5 5 9 (—) —>)
Let a, band c bethree vectorssuch that a = b X \b X ¢/. If magnitudes of the vectors

= = = 3 - T
a,band ¢ are ,1 and 2 respectively and the angle between band ¢ is 0‘:9‘35 j
then the value of 1+ tan 6 is equal to :

Options :
1. 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



59 59 9
d

_>
, bR C\)OMJMUJ@J{ $9 a= bx (bx(:]c:fa a, babe) ¢ ¥ HoaRnD

i 4

_>
ﬁmﬂ\ﬁ,lmgzmebm ¢ ¢ F@AT dReT 6 [0*’9*? 2]%6 1+fan 03

Options :

; V3 +1

JB 3T

Mathematics Section B

Section Id : 864351853
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1

Sub-Section Id : 8643511080



Question Shuffling Allowed : Yes

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3+ 21 cosh

If the real part of the complex number 7 =
= 31 cosf

Be (D 2) i zero, then the value of

sin’30 +cos is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o 5 = 3+2uosﬂ
e A 3uosﬂ s

sin%3+ cos @ 3¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0

IfA=

11 1]

001

matrix M is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

111
A=10 11 miM=A+A2+A3+....+A20,f5mﬁ M
00 1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

-
AV

3500 o

Y

0 1 1|and M=A+AZ+A%, .. +A2 then the sum of all the elements of the



Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let n be a non-negative integer. Then the number of divisors of the form “4n+1" of the
number (10)0 - (1)1 (131 is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N0 LEEERYE Temrosncoe, (10)0- (LM (13)%a0w Hosbed et
“4n+1” wﬁoco@qc{ﬁ:\d, WHY st n’oz‘jﬁ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The distance of the point P(3, 4, 4) from the point of intersection of the line joining the points
Q@ -4, -5) and R(2, -3,1) and the plane 2v+y+z=7, isequalto .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P, 4, 4 tockaRon Q@ -4, -5) ey R -3, 1) domaodeiry desfody W)
2+y+z=7 ARDIOT G6F NODAT TAAT TRTF) .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let y=y(x) be the solution of the differential equation dy=e***¥dx; a € N.

1
If y(log, 2)=log, 2 and (0) = loge{ﬂ, then the value of « is equal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=,

Y ae NaE) a0 3mA dy=e™Idvaow ©Htod AdEnG Z0mog y=y(1) eha.

1} o i
yllog, 2)=log, 23 y(0) = loge@ 60 a0 UC .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8. i 1
If E lsin® v} e dr = o - % .[0 Jte'dt, then ot is equal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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A = A A A A
leta=i-aj+pk b=3i+pj-akand c=-ai-2j+k, where a and f are

-5 - -5 9 - =S\ =
integers. If a * b=-1and b - ¢=10, then (a X b)- ¢ isequal to
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Let E be an ellipse whose axes are parallel to the co-ordinates axes, having its center at
(3,~4), one focus at (4, -4) and one vertex at (5,~4). It mx—y=4, m>0is a tangent to the
ellipse E, then the value of 5m? is equal to
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LetA=[neN|n*<n+10,000}, B={3k+1|ke N} and C={2k| ke N}, then the sum of all the
elements of the set An(B-C) isequalto .
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A=neN|n? < n+10,000}, B={3k+ 1/ ke N} 23 C={2k ke N} 8. An(B-C) 39 wbi
N MEmoTny wag .
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The number of real roots of the equation

et — 3 —4e2X —eX+1=0 is equal to
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